EARAROBEEIERT — 2 N— IBISH —F

20155 1H8H (K) 23EIEMH2H

mCZ: C2=- #¥5%4m®t EEDE T
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ilglg| 77 772772 i 4 Jslll_%IE— 1:(3_1).7 2-2-1-2 | 38.4| — 3 443 gﬂfé ()
R:28—-)>r70-X B:I7JTF«F72 -2 HFEHS
o= ArifE :31. -10-8~ . — 76)I¥E7E (EM)
5 6| NE/TTu Y 44 o 1(33/14)8 10-10-8-6 | 37.7 7 (4_9; Pl
YRy THY BAAU—TUYT K& 4%
Hehes . 56 _ mrpiEk (FEl)
3077 | P MVF Y=L 48 [oths roes | %3 1 f_“; ZER
R:xAIZTF—X BEIT4T)— HET7— L
S L S s 7 | MIRhED 1:32.0 8-8-4-4 [38.2| — 9 494 | JWISER (FElH)
47| ¥r>EXTY T 56.0 7E) © | (B JP N
T RIA VT vIx> BT =X A9 TT— L
N i 4 5 | SREH 1:32.0 6-6-2-3 |38.3| — 2 487 | BRER3A (EIMH)
50111 H/a33JAam 56.0 (1) ) AR
L:ARYIF U7~/ BRXLAEY Y=L ARl #&
47 | HZAEEX 1:32.0 4-3-2-1 [38.5| — 5 458 | ABE= (EMH)
6(8[10| 7Y/ ~TH= 5.0 () o | 2T
LixiAMO— BiKY—TF— KT 7 — L
S B 4 | EHEEGE— 1:32.4 3-4-7-7 |38.9| — 10 | 454 |HAFEIERS (ZEH)
TEN 4| VT 54.0 2 1/2) o |WUEES
L:d—IWKR7Y2—)b B:hSX b RMFE— AR R
- = B 4 | AUEE 1:32.4 9-9-9-9 [38.4| — 4 430 | EHAE (ER)
s@l2| 7177 =—=* 54.0 F5%) o | =8B
R:ZY4 7 hALE N BITOT [SE - FS
> i # 5 | FHE— 1:32.6 7-7-9-10 | 38.6| — 6 486 | KIBIEZE (EH)
o 3| *TT1—F2R 54.0 (1 1/2) ) | B
LTHAFLAY B U—LAY BR X
. ; . i 4 | MNERF 1:33.2 1-1-4-8 [39.9| -— 8 421 | BETIER (EH)
10/5|5| PAEDLTYU =X @ 1/2) (o |1 A -LHNZ bEE
x> JgnA4B— B:hOEDNEZA L Ak EE
® 1—F—@EBIERL
1T=7r= 5,9,4,10,7,1,3,8,2,6
2a=5F= 5,9,10,4,7,1,3,8,2,6
33—+— |9,(1,10),(5,8),7,4,6,(2,3)
40—+ — 10,9,1,8,7,6,4,5,2,3
[ N5
B 9 550 714K 6-9 920M e E 6-8 2,450/ JEE 6-7-9 1,960
B B 9 1609 7-9 250M B = 6-9 2,870H EE 9-6-7 14,800M
6 380H 6-7 350M B H 9-6 4,220M
7 110M

ABICOVWTRDTEEERROODE. TR LIV,




